

....., « », , « », ,

-

, : ,

().

$$I = -I_s \exp\left(\frac{qU}{AkT}\right) + I_f, \quad [1]$$

$$I = -I_s \left[\exp\left(\frac{qU}{AkT}\right) - 1 \right] + I_f,$$

I – , U – , I_s – , q – , k – , T – , I_f – , A .

A , 2 4–5. A 2. $p-n$, « » I_s 1 [1].

[2] , $p-n$

A

Comsol Multiphysics,

1. , . . . // : . – 1971. – 248 . / . . .
2. , . . . // : , 1965. – 448 .

....., « », , « », ,

(r, z)

Oz R.

$B_z(R, z)$.

$$\frac{\partial}{\partial r} \left(\frac{1}{r} \frac{\partial \Phi}{\partial r} \right) + \frac{1}{r} \frac{\partial^2 \Phi}{\partial z^2} = 0, \tag{1}$$

3. $-\infty < z < \infty, r > R$

$$\Phi(R, z) = 0; \tag{2}$$

$$\left. \frac{\partial \Phi}{\partial r} \right|_{r=R} = 2\pi R B_z(R, z). \tag{3}$$

$B_z(R, z)$,

(1) – (3).

$B_z(R, z)$

$$\Phi(r, z) = 2rR\sqrt{2\pi} \int_0^\infty [I_1(\lambda r)K_1(\lambda R) - I_1(\lambda R)K_1(\lambda r)] F(\lambda) \cos(\lambda z) d\lambda, \tag{4}$$

$I_1(r), K_1(r) -$

$; F(\) -$

$B_z(R, z)$.

“ 1. ”. – 2000. – 2007. – . 167.

/ . . //